
P ERUN MOTO  YAMAHA TENERE 7 0 0  SIDE 
CARRIERS - INSTALLATIO N INSTRUCTIO NS 

Con t e n t  o f t h e  k it  

• 2 x Side  Carrie r base  (LHS and  RHS) - la rge  shee t m e ta l parts 

• 2 x Side  Carrie r b racket (LHS and  RHS) - sm all shee t m eta l parts  

• 1 x Underm ount b racke t - b ille t a lum inum  part 

• 4 x 20/8.2-25 space r 

• 4 x M8x50 counte rsunk bolt 

• 4 x M8 counte rsunk 3D washer 

• 2 x M6x40 a llen  head  bolt  

• 4 x M6x25 a llen  head  bolt 

• 4 x M6x20 bu ttonhead bolt  

• 12 x M6 fla t washe r 

• 4 x M6 safe ty nu t 

 



A. In s t a lla t ion  o f Te n e r e  700 Sid e  Ca r r ie r s  

1.Undo the  stock bespoke  bolts and  clear the  th readed  holes m arked  with  purp le . 

On  both  sides.  

If you  have  Pe run  m oto Yam aha T700 Top  Luggage  rack insta lled , rem ove  it. You will 

insta ll it back, la te r. 

 

2. Rem ove  two rear stock M6 hex head  bolts and  washers, m arked  with  b lue . They 

are  on  the  underside , above  the  rear tire .  

 



3. Prepare  Underm ount b racke t and  2 x M6x40 a llen  head  bolts. Use  th read-locke r 

(Loctite  243 or sim ilar). No m atte r which  side .  

 

4. Insta ll the  Underside  b racke t, like  shown in  the  photo . Torque  the  bolts to  8 Nm .  

 



5. Inse rt 20/8.2-25 space rs, as shown on  the  photo . On  both  sides.  

 

6. Insta ll RHS Side  carrie r base , as shown in  the  photo. Inse rt M8x50 counte rsunk 

bolts and  M8 counte rsunk 3D washers. Tigh ten  fron t bolt by hand. Loose ly tigh ten  

rear bolt, so  Carrie r can  m ove  a  b it.  

 

7. Insta ll RHS Side  carrie r b racke t - use  M6x25 a llen  head  bolts and  M6 fla t washe rs 

to  bolt it to  the  Underside  b racke t, as shown. 

Note  tha t Side  carrie r b racke t is  bolted  to  the  fron t side  of Underside  b racke t 

(towards the  fron t of the  b ike ).  

Tigh ten  the  bolts by hand .  



 



8. Connect the  RHS Side  carrie r b racke t and  RHS Side  carrie r base , like  shown on  the  

photo . 

Use  M6x20 bu ttonhead  bolts, with  M6 washers on  both  sides, and  M6 safe ty nu ts, 

as shown on  the  photo .  

If som eth ing isn 't a ligned  we ll, loosen  M8 bolts hold ing the  RHS Side  carrie r base  

and  M6x25 bolts hold ing the  RHS Side  carrie r b racke t to  the  Underside  b racke t.  

Tigh ten  M6x20 buttonhead  bolts by hand .  

 



9. Now tigh ten  a ll the  bolts, in  the  following orde r - first tigh ten  M8x50 bolts (hold ing 

the  RHS Side  carrie r base  to  the  b ike ) to  the  15 Nm ; next, tigh ten  M6x20 bu ttonhead  

bolts (hold ing RHS Side  carrie r b racke t to  the  RHS Side  carrie r base ); a t last, tigh ten  

M6x25 a llen  head  bolts (hold ing RHS Side  carrie r b racke t to  the  Underside  b racke t) 

to  6-7 Nm .  

 

10. Repeat th is for the  othe r side  too.  

11. Afte r few rides, re -torque  the  bolts to the  spec. 

 

 

 

 

 



B. In t e gr a t ion  o f Te n e r e  700 Sid e  Ca r r ie r s  w it h  Pe r u n  m ot o  T700 Top  

lu gga ge  r a ck  

For th is in tegra tion , you  will need  the  hardware  supp lied  with  Side  carrie rs p lus 

the  hardware  supp lied  with  the  Top  luggage  rack.  

First, insta ll the  T700 Side  carrie rs, as pe r instructions above  (section  A).  

1. Loosen  up  the  bolts m arked  with  green. Rem ove  the  bolts m arked  with  red . On  

both  sides. 

 

2. If you  a lready had  Pe run  m oto T700 Top  luggage  rack insta lled , just loosen  up  the  

bolts shown on  the  photo  be low.  

 



Or, if you  d idn 't insta ll the  T700 Top  luggage  rack be fore , check T700 Top  luggage  

rack instructions - from  paragraph  1 - 4. Just hand  tigh ten  the  bolts, they shou ld  

rem ain  loose .   

3. Pu t T700 Top  luggage  rack assem bly ove r the  T700 Side  carrie rs, as shown on  the  

photo  be low.  

Use  M8x55 counte rsunk bolts supp lied  with  the  T700 Top  luggage  rack (not the  

M8x50 counte rsunk bolts supp lied  with  T700 Side  carrie rs) and  M8 counte rsunk 3D 

washers to  bolt the  assem bly to  the  b ike .  

 

T700 Top  luggage  rack assem bly is insta lled  ove r the  T700 Side  carrie rs assem bly! 

 

https://www.perunmoto.com/pages/perun-moto-yamaha-tenere-700-top-luggage-rack-installation-instructions
https://www.perunmoto.com/pages/perun-moto-yamaha-tenere-700-top-luggage-rack-installation-instructions


4. Make  sure  eve ryth ing is we ll a ligned and  hand  tigh ten M8x55 bolts.  

5. Then, tigh ten  the  bolts in  the  following orde r - first tigh ten  M8x55 bolts (hold ing 

the  assem bly to  the  b ike ) to  the  15 Nm  - m arked  with  orange ; next, tigh ten  M6x20 

bu ttonhead bolts (hold ing RHS Side  carrie r bracke t to  the  RHS Side  carrie r base ) - 

m arked  with  purp le ; than , tigh ten  M6x25 a llen  head  bolts (hold ing RHS Side  carrie r 

b racke t to  the  Underside  b racke t) to  6-7 Nm  - m arked  with  green ; at the  end , tigh ten 

M6x20 and  M6x16 bolts on  the  Top  luggage  rack p la te  - m arked  with  ye llow. On 

both  sides, sim ultaneously.  

 

 6. Afte r few rides, re -torque  the  bolts to the  spec. 

 


	PERUN MOTO YAMAHA TENERE 700 SIDE CARRIERS - INSTALLATION INSTRUCTIONS

